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QUESTION 1

Refer to the exhibit.

Figure 8-1. vSphere Trust Authority Architecture
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Which trusted infrastructure component is missing and represented by the area labeled “A”? (Choose the best
answer.)

A. Key Management Server

B. vSphere Virtual Machine Encryption

C. Key Provider Service

D. Attestation Service

Correct Answer: A

Reference:
https://docs.vmware.com/en/\VVMware-vSphere/7.0/com.vmware.vsphere.security.doc/GUID-

CEFC9BAE1685-49A7-9854-4AC997F2F1C3.html https://docs.vmware.com/en/VMware-
vSphere/7.0/com.vmware.vsphere.security.doc/GUID-E4945A3BBCBE-42AD-A00F-6A6957217041.html

QUESTION 2

Refer to the exhibit.
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What does the %RDY for the Win1l virtual machine indicate? (Choose the best answer.)
A. High CPU wait time

B. Low CPU usage

C. High CPU contention

D. Low CPU contention

Correct Answer: C

Reference:

https://communities.vmware.com/thread/463542

QUESTION 3

What can an administrator use to partition limited CPU and memory resources between two departments? (Choose the
best answer.)

A. vSphere distributed switch
B. vSphere High Availability
C. vCenter folders

D. Resource pools

Correct Answer: D

QUESTION 4

Which type of network adapter is designed to provide connectivity to hosts and handle the standard system traffic of
vSphere vMotion? (Choose the best answer.)
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A. VMkernel port

B. VXLAN virtual tunnel end point (VXLAN VTEP)
C. Virtual machine network interface card (VMNIC)
D. VM network

Correct Answer: A

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/com.vmware.vsphere.networking.doc/GUID-
D4191320209E-4CB5-A709-C8741E713348.html

QUESTION 5

How does vSphere handle memory allocation during the instant clone process? (Choose the best answer.)
A. The first child virtual machine serves as a memory snapshot for any subsequent child virtual machines.
B. An identical clone of the parent virtual machine\\'s memory is created for each child virtual machine

C. Memory is shared among all child virtual machines using a delta disk.

D. A uniqgue memory pool is created per child virtual machine using copy-on-write.

Correct Answer: A
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